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Grey line: exponential fit Peak flux: 1.871+/- 0.374 c/s/lcm?
Black line: power law + gauss fit Fluence : 16.79+/- 4.22 clcm?
Dashed line: power law o ’ ’
Duration: 19.77+/- 3.76s
Best fit model: 1.
‘ Best fluence model: 1.
H Best duration model: 1.
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Exponential fit
Expon. time: 5.30+/- 1.04 s (chi*red= 1.09)

-H\\‘H\HH\\‘HH\\\T%—H\HH‘HHH\H‘\H

Time [s]

= | |
SEER TR it et bt b e A
= ﬁ HH# I W iy ﬂ ult HHW i } W i h WW (i H+*ﬁ*u+*HHﬁw@#ﬁﬂﬂﬂ H W il ﬂﬁﬁ*ﬂ% ﬁm HW f W i W H i W WH P i
; Power law fit é
E Power law index: -1.293+/- 0.179 (chi*red= 1.09) =
- i TR Ay Wt TN TR TR TONE
HE b bttt bl A b i Wi e o i A S
= ﬁ HH# o WN * i ﬂ w HHM i %ﬂ m W i ﬁ Wﬂ Hﬂﬁ W H*W#ﬁ*“ﬁﬂﬂ*ﬂwﬂﬁ *mﬂWm i ﬂﬁ Mfw ﬁﬁ ﬁH HWW W ﬂﬁ w ﬂ& ﬁﬁH i W ﬂw f ﬁ | Hﬂﬁ Wﬁ%
i T T T T T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 50.08+/-41.94 s, fracgs= 0.14+/- 0.09) =
= Power law index: -1.394+/- 0.060 (chi’-red= 1.09) 3
= bid b 11 g b N T NIRRT T ATONE.
SR Bt st b 34 AT A R
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 30



